The Infinitive

Exercise 1. Combine the sentences using the Complex Object.
1. They did not notice us. We passed by. 2. He heard her. She was playing the piano. 3. He saw her. She burst into tears. 4.1 felt her hand. It was shaking. 5. He hasn't heard us. We called his name. 8. They haven't seen the accident. It occurred at the corner. 7.1 heard them. They were arguing. 8. She heard the footsteps. They were dying away. 9. She felt something. It was crawling around her neck. 10. We many times heard him. He told this story.

Exercise 2 Use the correct form of the infinitive.
[bookmark: _GoBack]1. The doctor wanted the patient___ (examine)
2. There are a lot of people who expect your country ___ (be) the same as their own.
3. Did you hear the chairman___ (make) an announcement?
4. When I was waiting in the hall, I saw a girl___ (come) with a file in her hand.
5. Nobody expected the president of the company___ (come) to the party.
6. I saw him___ (turn) round the corner and___ (disappear).
7. She noticed the children___ (hide) behind the tree but pretended to see nothing.
8. I want his article___ (publish) in November.
9. He did not expect her___ (ask) about it.
10. We did not want his speech___ (interrupt).

Ex. 3 Use the required form of the infinitive. Insert the particle to where necessary
1. The guard would not let me (go) into the building. 2. Mrs Smith always made her children (put) away their toys before they went to bed. 3. The notice-board says the plane (land) within the next few minutes. 4. Johnny was made (go) to bed early because he had been a naughty boy. 5. Mr Brown will never allow his wife (forget) that she made him (give up) his job. 6. Since Mr Brown was made (give up) his job, he has not let his children (have) any pocket money. 7. Angela saw the accident (happen), so she went to call an ambulance. 8. The thief didn't (manage) to find the jewellery. 9. "If you've got nothing to say," I said, "why (to try) (to say) it? Why not (to have) a little rest?" 10. There was one more announcement (to make).

Ex. 4. Rewrite the sentences using Complex Subject with the verbs in brackets. 
1  She has lost her job. (seem)	……………………………………………………………….
2 Ann was accepted to work there. (seem)		
3 He is working hard. (appear)		
4 They have been watching TV all afternoon. (seem)		
5 Tom missed the train. (appear)		
6 They are moving house. (seem)	
7 She found the solution. (claim)		
8 It has been raining hard. (appear)		
9 She is reading a magazine. (pretend)		
10  Sharon tells lies. (tend)		

Ex. 5. Transform the following sentences so as to use “for”-complexes with the infinitive
l. She told them the truth. It was easy for her. 2. Your child must spend more time outdoors. It will be better for him. 3. He always took part in the discussions. It was a natural thing for him. 4. We are going to the country on the coming weekend. It will be good for us. 5. Old people do not usually change their habits. It is hard for them.

